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21 (a) A : Penguin B : Elelphant21 (a) A : Penguin  B : Elelphant
21 (b) hair
22 (a) The platypus does not belong to the same group.
22 (b) Birds
23 (a) A : Plastic B : Glass
23 (b) Property 1 : It does not break easily

Property 2 : It can be squeezed easily
24 ( ) i) B ll X R bb24 (a) i) Ball X  Rubber

ii) Ball Y Styrofoam
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25 (a) Plant S
25 (b) Characteristic 1 : Living things grow

Characteristic 2 : Living things need water and sunlight.
25 (c)

wY

26 (a) The bee is an insect because it has three body parts and it has six legs.
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26 (b) This fern is a non‐flowering plant which reproduces through spores.
26 (c) The mushroom is a fungi that cannot make its own food
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